
Explanation of sx track loop-system
The SX track consists mainly of two different loops, denoted "red" and "blue". One lap
includes both loops, just pick whichever you want to ride first. An example of how you could
choose to complete one lap at the track is presented below.

1

Shortly after the start, the track will split into two loops, shown in the figure below. Here, it is
up to you to decide which color to follow (the loops are interconnecting so during one lap you
will ride both red and blue, the decision you take now only controls which loop you start
with). In this example, we chose to enter the red loop and will therefore follow the red
signs during the first lap.
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At the middle of the lap, you will arrive at the point where the loops are interconnecting with
each other, see the figure below. In step 1, you decided to enter the red loop, therefore you
will continue to follow the red sign at this crossing. This will lead you on to the blue loop.
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The next time you reach this crossroad (see figure below), you will have completed both
loops. Since you initially chose red, you continue to follow the red signs here as well. This
time it takes you back to the start / finish area and one lap is completed.

Note that this example showed the path of the track according to a red selection in step 1. If
you instead would have chosen the blue loop, you would have followed the blue signs.


